>
N & 0 & AF &2 8 A A
20219 &= =20l & LB H 2otm At
M 23R4
M PHFUAMATEETS
el SESHT BE Y M (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
E o= A D 120,376,410 101,011,809 19,364,601
= 64,388,474
s 12,685,000
J| 2,754,420
< 35,548,516
T 5,000,000
SARMUAMAHAETEENS 98,834,152 88,191,501 10,642,651
= 64,388,474
J| 2,754,420
< 26,691,258
T 5,000,000
SEERSM BE L S 3,091,237 2,922,709 168,528
= 958,400
< 2,132,837
LERM BsNAEAS 673,630 707,800 A 34,170
308 MtXIEHSOIH 673,630 707,800 A 34,170
01 AXHHILEES 673,630 707,800 A 34,170
ORYIaM MSNIES(ERA, =)
480,000, 000 480,000
ORE23 M SHEA S X2 (0l&EZ)
91,630,000 91,630
ORI FSKNIS(EREH)(0AEZ)
102,000, 000 102,000
N2 (2 M)os M =0 775,477 588,407 187,070
= 100,000
< 675,477
203 YR =2l 2,707 2,707 0
03 AIBFAH S =AY 2,707 2,707 0
O2st RN AIMFZIARFZA (0 A E2)
2,707,000 2,707
308 XXM SO A 772,770 585,700 187,070
= 100,000
< 672,770
01 AXHHIYEES 772,770 585,700 187,070
ONE2aes &2 XA (MHAEY)
198,220,000 198,220
OXdzatza 85 XA (M=)
367,000,000 367,000
OXNdgZstga 2x XA 130,000,000 130,000
= 100,000
< 30,000
O=223s MeHl X2 (uaz2) 2,550,000 2,550
OOt&HAl 23t EE AL 20,000, 000 20,000
OZUEBZMAEEZTZH 35,000, 000 35,000
OZANYUEZ JIEAS 20,000, 000 20,000




M 23R4
B 2QUOHNNBENS
el SEERSM BE L MBS (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
LEISM Mruns2 A (AZ2H2) 1,316,850 716,000 600,850
= 790,000
< 526,850
403 UHXISHHSA=0l& 1,316,850 716,000 600,850
= 790,000
< 526,850
01 HXESHMA=LE L 1,316,850 716,000 600,850
L2 AE T (0aEZ)
289,850,000 289,850
OfEEsM drns2 A8 XA
1,027,000, 000 1,027,000
= 790,000
< 237,000
fE=2sM 2LHE ¥ JIEst 216,750 270,000 A 53,250
207 1 OH & Hl 216,750 270,000 A 53,250
01 2284 216,750 270,000 A 53,250
OREIsM 2UHE 2 JISsH(0aEZ)
216,750,000 216,750
LEEM drus2 2 2HSAY 60,900 53,502 7,398
= 42,000
= 18,900
308 XX EHH SOl A 60,900 53,502 7,398
= 42,000
< 18,900
01 HIXNHHBHEELS 60,900 53,502 7,398
OREEaM dxusa 243 AIY
60,900, 000 60,900
= 42,000
< 18,900
SEIHM NE $ dSFH 27 9,350 11,000 A 1,650
207 RO ]| 9,350 11,000 A 1,650
01 A3 39l 9,350 11,000 A 1,650
ORE=aM 55 XN& ©Ed AR (=Y
9,350,000 9,350
FEEM drus2 2= A BIX 38,280 0 38,280
= 26,400
< 11,880
308 XXM SOl A 38,280 0 38,280
= 26,400
< 11,880
01 AXHHBLEES 38,280 0 38,280
Odz=usa 23tz A BHXI 38,280,000 38,280
= 26,400
< 11,880
NE23M 2E2e 45,954,283 48,663,227 A2,708,944




M 23R4
M PHFUAMATEETS
& XNEES3M E&2e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 30,654,040
J| 1,348,204
= 8,952,039
H 5,000,000
HEANE ESFUI(AMZXE) 1,605,000 1,590,000 15,000
= 1,070,000
< 535,000
403 Mt SHHSA=0l& 1,605,000 1,590,000 15,000
= 1,070,000
< 535,000
01 X SHMA2E X 1,605,000 1,590,000 15,000
OXSAHEE=FH| 1,605,000, 000 1,605,000
= 1,070,000
< 535,000
NLSHSAE E= 801,600 844,000 A 42,400
403 MtXISHE X201 E 801,600 844,000 A 42,400
01 X SHHAN2E= 801,600 844,000 A 42,400
OXNEHSAE 2= 801,600,000 801,600
SR M2l KA 27,500 27,500 0
= 27,500
308 MXIEHMSOIH 27,500 27,500 0
= 27,500
01 HIXNHHBHEELS 27,500 27,500 0
O=JIZa M XY 2FHL A& 22|
27,500,000 27,500
= 27,500
ESSANEE FHI 299,500 855,000 A 555,500
403 XIS S X201 & 299,500 855,000 A 555,500
01 XXM 22 = 299,500 855,000 555,500
OSaZANEE FHlI(0eEZ) 102,000, 000 102,000
OZsZANE2 JEI(EE) 197,500, 000 197,500
EXNEEZaM et & S22 HX B HH| 26,100 47,500 A 21,400
403 X SHHE A0l & 26,100 47,500 A 21,400
01 XM A=2EE 26,100 47,500 A 21,400
OZXNE23HM etz o S=2EXT (ol
AFE ) 26,100,000 26,100
SNHNEEM & SE23M 234 N 30,979,587 35,747,139 AN4,767,552
= 25,462,630
< 516,957
H 5,000,000
403 MHXISHHS =0l & 30,979,587 35,747,139 A4, 767,552
= 25,462,630
< 516,957
T 5,000,000




EX: 23R4
B 2QUOHNNBENS
e NS =22 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
01 XIS A2 X 30,979,587 35,747,139 N4 ,767,552
O=ZIINEESS M 2434 30,702,267,000 30,702,267
= 25,277,750
o= 424 517
TH 5,000,000
O=2IXE SE2SM 2434 277,320,000 277,320
= 184,880
= 92,440
S MAJSG 22 53,550 63,000 N9,450
201 Bt 53,550 63,000 N9,450
01 AP 22| H| 53,550 63,000 N9,450
O3 MAKS 2 (0l atE2) 53,550,000 53,550
D% O|0IKl HIIAS 3,515,500 1,195,157 2,320,343
= 3,115,000
& 400,500
403 XX SHHS K20 & 3,515,500 1,195,157 2,320,343
= 3,115,000
& 400,500
01 XIS AZ2E X 3,515,500 1,195, 157 2,320,343
OXD% Ol0IX =D At 3,515,500,000 3,515,500
= 3,115,000
= 400,500
HEAE BTHAIAY SN2 330,000 298,410 31,590
= 220,000
= 110,000
308 MXISHMSOIA 330,000 298,410 31,590
= 220,000
=} 110,000
01 IXHAHINMNEEXTZ 330,000 298,410 31,590
ONHEAMNE SHAAEY RAE% 330,000,000 330,000
= 220,000
& 110,000
S =SAY 2,696,408 2,473,200 223,208
J| 1,348,204
== 1,348,204
307 2Iz2t0| & 2,696,408 2,473,200 223,208
Jl 1,348,204
== 1,348,204
02 QIZHA AAIE E X 2,696,408 2,473,200 223,208
O2stM=s==s MY 2,696,408,000 2,696,408
J| 1,348,204
= 1,348,204
CXNAE2SM ELAH| 4,175,075 4,219,500 N44 45
403 XX SHHS K20 & 4,175,075 4,219,500 N44 425




M 23R4
M PHFUAMATEETS
& XNEES3M E&2e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HXSHMA2E X 4,175,075 4,219,500 ANA44 425
OEXNE23M 2=l (0l&H&2)
4,175,075,000 4,175,075
2= AE & =34 105,000 95,000 10,000
308 A EHHSOIA 105,000 95,000 10,000
01 HXNHHNBHELS 105,000 95,000 10,000
O N8-S5 & s2A(0aEY)
105,000,000 105,000
HSAME STMALE RF(AZXE) 260,250 128,250 132,000
= 173,500
= 86,750
403 A X EHHS 20l A 260,250 128,250 132,000
= 173,500
< 86,750
01 X HHMA=ZLE L 260,250 128,250 132,000
ONSAE SMWAIAE S 260,250,000 260,250
= 173,500
< 86,750
NLYESAE 28 B 80,750 95,000 A 14,250
403 X SHHSA=0l& 80,750 95,000 A 14,250
01 X SHMA2E X 80,750 95,000 A 14,250
OXLHEAMNE 213 B(0aE2)
80,750,000 80,750
=3t eHLHE H b 177,529 205,571 A 28,042
= 130,570
< 46,959
403 MHXSHHSA=0l& 177,529 205,571 A 28,042
= 130,570
< 46,959
01 HXSHMA2E X 177,529 205,571 N 28,042
OZst M et et Al 177,529,000 177,529
= 130,570
< 46,959
SEE3M A 100,000 565,000 A 465,000
207 SO 100,000 565,000 A 465,000
01 289 100,000 90,000 10,000
OZXNEEZs M EIIXZA 100,000,000 100,000
SEXNEEZSM FLASZA 181,900 214,000 A 32,100
403 XIS E X201 & 181,900 214,000 A 32,100
01 X SHHN2E = 181,900 214,000 232,100
OSXNILSHW 79 HHEY U DAWEH(
Ol &FE 2L 85,000, 000 85,000




EX: 23R4
B 2QUOHNNBENS
e NS =22 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OZXNAEESSI HUA=E I AHOAEZ)
96,900,000 96,900
FOENW DEEY NIAY 130,000 0 130,000
= 100,000
= 30,000
308 XHXIEHSOIA 130,000 0 130,000
= 100,000
= 30,000
01 AIXSHMENMNEX= 130,000 0 130,000
OnNE:eEE 84 FUEFNH ESXI AL
130,000,000 130,000
= 100,000
&< 30,000
A2 ZEAY 249,234 0 249,234
= 220,840
= 28,394
403 XX SHHM S X201 A 249,234 0 249,234
= 220,840
= 28,394
01 XS A=2E X 249,234 0 249,234
ORHME2t LMY 249,234,000 249,234
= 220,840
= 28,394
O2td3 & XY AXIAY 159,800 0 159,800
= 134,000
= 25,800
403 XX SHS K20 & 159,800 0 159,800
= 134,000
= 25,800
01 XIS A=Z2E X 159,800 0 159,800
Oof2td & X AXALY 159,800,000 159,800
= 134,000
o 25,800
ANg2saey 2,097,000 500,000 1,597,000
QA HIIE SHY9A s B 17,000 270,000 A 253,000
307 QI2t0| ™ 17,000 20,000 A 3,000
02 Q2B AMAIE E =X 17,000 20,000 A 3,000
Ogalte SHIAAN2 UL (HaHE2)
17,000,000 17,000
SHO FSRM HH =28 80,000 80,000 0
201 LBt 9| 80,000 80,000 0
01 AP 22| d| 80,000 80,000 0
O=FHO 23R4 8t =8 80,000,000 80,000
2AALM 23 &0 2 2,000,000 0 2,000,000




2N
X ZH -
L= B

el

23R 4D
SRMANAREEDS
Ngesay

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
702 JISEEZS 2,000,000 0 2,000,000
(O RWIE=RSE= 2,000,000 0 2,000,000
O=2daLT 2stM &=I13 2,000,000, 000 2,000,000
FIFH FH Y & & 8,032,330 10,285,343 A2,253,013
= 2,998,000
J| 18,900
= 5,015,430
HSAAL 23T EEALE 213,150 253,750 A 40,600
= 147,000
< 66,150
308 XXM SO0 A 213,150 253,750 A 40,600
= 147,000
< 66,150
01 IXNHHBNEES 213,150 253,750 240,600
O SLAL 23 S AY 213,150,000 213,150
= 147,000
< 66,150
A sa IS AL THE ZHI 21,330 21,093 237
J| 18,900
< 2,430
308 XtXIEHH SOl A 21,330 21,093 237
J| 18,900
< 2,430
01 X HHILEES 21,330 21,093 237
OXtH s ot DISSHAL THE S I 21,330,000 21,330
J| 18,900
< 2,430
23R 2 TESHEEAY) 3,460,000 4,935,000 A 1,475,000
403 MHXSHHSA=0l& 3,460,000 4,935,000 A 1,475,000
01 HXHHMA=LE X 3,460,000 4,935,000 A 1,475,000
OBd A=A E22 2= A 900,000,000 900,000
OZ4&4 &l 50,000, 000 50,000
OstE2MILX OIAVAIS2E S =4
1,350,000, 000 1,350,000
o=l 08¢ Jlga Ag 170,000, 000 170,000
OsFE=+dd S (H2E=ER) ZEAY
150,000, 000 150,000
Ox=HYAI RSN A= 840,000, 000 840,000
=23t OFg At 794,600 1,146,250 A 351,650
= 548,000
< 246,600
308 MtXIEHSOIH 794,600 1,146,250 A 351,650
= 548,000
< 246,600




SN 2HRAD
M PHFUAMATEETS
S PEHRNO FHNY U 28 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HIXNHHNBHNEES 794,600 1,146,250 A 351,650
O=Zst M Ordd At 794,600,000 794,600
= 548,000
< 246,600
MMUZETH ALY 822,150 1,113,000 A 290,850
= 567,000
< 255,150
308 XXIEHH SOl A 822,150 1,113,000 A 290,850
= 567,000
< 255,150
01 AXHHILEES 822,150 1,113,000 A290,850
OMM=23HTH At 822,150,000 822,150
2 567,000
= 255,150
S M 28 ESALY 1,489,150 1,461,250 27,900
2 1,027,000
< 462,150
308 MtXIEHMSOIH 1,489,150 1,461,250 27,900
= 1,027,000
< 462,150
01 HXNHHNBHELS 1,489,150 1,461,250 27,900
OENANH Z3M A 1,489, 150,000 1,489,150
= 1,027,000
= 462,150
NHEZstR4 s A 117,000 235,500 A 118,500
= 78,000
< 39,000
308 XX EHHSOIA 117,000 235,500 A 118,500
= 78,000
< 39,000
01 IXNHHBNEES 117,000 235,500 A 118,500
OXNGZstRe WA 117,000,000 117,000
= 78,000
< 39,000
DESAY YEANY 914,950 967,500 A 52,550
= 631,000
< 283,950
308 XX EHH SOl A 914,950 967,500 A 52,550
= 631,000
< 283,950
01 X HHILEES 914,950 967,500 A 52,550
O B3y EEAY 914,950, 000 914,950
= 631,000
< 283,950
2ALATHESH B2V 29 200,000 0 200,000




M 23R4
M PHFUAMATEETS
S SIRM FHNY ¥ BE EEREED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
306 ¢ 2 200,000 0 200,000
01 &3 200,000 0 200,000
OZQAATH 25 S#+51E 29
200,000, 000 200,000
S S ALY 2,052,774 2,254,050 A 201,276
J| 1,387,316
< 665,458
oM tMAHIR X ¥ 22 980,424 737,700 242,724
J| 653,616
< 326,808
308 XtXIEHHSOIA 980,424 737,700 242,724
J| 653,616
< 326,808
01 HXNHHNBHELS 980,424 737,700 242,724
OZSR=SXIstM A HIA Xl
980,424,000 980,424
J| 653,616
< 326,808
3 MHHESEXAE 2= 566,600 731,550 A 164,950
J| 429,200
= 137,400
403 A X EHHS =0l A 566,600 731,550 A 164,950
J| 429,200
< 137,400
01 X SHHA2E= 566,600 731,550 A 164,950
O=JMXNZEZatM HEHLXAIE X & W
472,600,000 472,600
J| 389,200
< 83,400
O2NXNE 2 MHHLTAIE X1 L HE(
REA) (ol &HE 2H) 34,000,000 34,000
OFsM HIANE & SE23M M AL
Xl 60,000, 000 60,000
J| 40,000
< 20,000
EXNE=23M SMHAIE 2= 136,000 200,000 264,000
403 XIS E X201 & 136,000 200,000 A 64,000
01 X SHHN2E= 136,000 200,000 264,000
OZXNE2MH SUTHAIE AF(0&E2)
136,000, 000 136,000
23N EHAIE X222 X 369,750 376,550 A 6,800
J| 304,500
< 65,250
308 XXIEHH SOl A 369,750 376,550 A 6,800
J| 304,500
< 65,250




M 23R4
B 2QUOHNNBENS
& 23 M ALY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HIXNHHNBHNEES 369,750 376,550 6,800
OZS2SE25T Ya2e SAXNE L LA
a4 KAzl 369, 750, 000 369,750
p] 304,500
< 65,250
MAIRA SH 2 2el 37,482,088 22,907,972 14,574,116
= 29,778,034
< 7,704,054
st=2 Mg MARLMSHF=A 28,000 25,000 3,000
308 MXIEHSOIH 28,000 25,000 3,000
01 HXNHHBHELS 28,000 25,000 3,000
O8t=2 HE ANAHSL SH=IH 2
28,000, 000 28,000
8t=29 N3 NMASY BE22 60,000 130,000 270,000
308 Xt XIEHH SOl A 60,000 40,000 20,000
01 HXNHHNBHEELS 60,000 40,000 20,000
Ogt=22o M2 MAISA 2&22] 60,000,000 60,000
NAH S B2 (A2 XAE) 32,629,354 21,744,572 10,884,782
= 26,591,200
< 6,038,154
403 Ut SHHSA=0l& 32,629,354 21,744,572 10,884,782
= 26,591,200
< 6,038,154
01 X SHMA2E X 32,629,354 21,744,572 10,884,782
OHMAMESE MHSA BER2AY
30,023,214,000 30,023,214
= 24,725,000
= 5,298,214
OMAHIR L B&E2e| At 2,106, 140,000 2,106,140
= 1,866,200
< 239,940
OfRg2sd HEDNa & 500,000, 000 500,000
HAH s B&2te| (A2 E &) 4,104,234 608,400 3,495,834
= 2,926,334
< 1,177,900
308 AAIEHHSOIA 4,104,234 608,400 3,495,834
= 2,926,334
< 1,177,900
01 HXNHHBHELS 4,104,234 608,400 3,495,834
OMNAISL &3 ALY 471,900,000 471,900
= 363,000
< 108,900
OMNAIRL EE ALY 732,334,000 732,334
= 563,334
< 169,000




2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O MAALSEX Al ZE= 1H
HY 00,000, 000 2,600,000
= 2,000,000
< 600,000
02021 MAIR & =& 300,000, 000 300,000
HRHEE MASL Se2tel 400,000 400,000 0
306 =3 400,000 400,000 0
01 =3 400,000 400,000 0
OBHM=H MASFL S Sl
00,000, 000 400,000
&2t 2EEwA 260,500 0 260,500
= 260,500
403 UtXISHHSA=0l & 260,500 0 260,500
= 260,500
01 XM A2E X 260,500 0 260,500
OUE23 M EERH 260,500, 000 260,500
= 260,500
ASIEHSH X 124,440 658,200 A 533,760
ABIEH sS4 & XY 30,940 548,200 A 517,260
307 21201 A 30,940 48,200 A 17,260
02 HAFHAANGFEX 30,940 36,200 A5,260
OASI NS X W (0 arE 2t 15,640,000 15,640
Olndsd ZNSEL =
15,300, 000 15,300
AL BHEE2SHTH AEHZ AL 93,500 110,000 A 16,500
307 21201 A 93,500 110,000 216,500
02 B AAFEX 93,500 110,000 A 16,500
OPr==23t A EH = At 93,500, 000 93,500
23 Y 1,378,050 12,762,600 8,615,450
s 12,685,000
< 8,693,050
EH(JIS)R LIS SEMNY 1,313,550 713,000 600,550
Jssuelastay 53,550 63,000 A 9,450
306 =43 53,550 63,000 A9,450
01 &= 53,550 63,000 A9,450
OZEfn 2 MEZ (0= 53,550,000 53,550
StERUENER 2F 1,260,000 650,000 610,000
306 ¢ 2 1,260,000 650,000 610,000
01 &3 1,260,000 650,000 610,000
O=aRuEER FHI 1,260,000, 000 1,260,000




M 23R4
dM: ZobA Y
Sl BFE, R0 ANBHTA T4 CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
23, B0 GAZSTA =4 2,000,000 1,250,000 750,000
AMNES2IITATHE (HEAL) 2,000,000 1,250,000 750,000
403 Ut E X201 H 2,000,000 1,250,000 750,000
01 X HHMA=ZLE L 2,000,000 1,250,000 750,000
O3, 20 GMEFZAEZA  2,000,000,000 2,000,000
XSO ALS 2,842,500 3,330,000 A 487,500
HEsSHdE NI 2,842,500 3,330,000 A 487,500
403 UHXSHHSA=0l& 2,842,500 3,330,000 A 487,500
01 HXSHMA=E X 2,842,500 3,330,000 A 487,500
OZEZE HESHEE NGMHLMS(MaEZ)
2,842,500,000 2,842,500
ZERUESH 2L ALY 15,222,000 7,155,600 8,066,400
s 12,685,000
< 2,537,000
EFHIZ ME2(28) 1,560,000 1,392,000 168,000
s 1,300,000
< 260,000
403 Ut S E X201 H 1,560,000 1,392,000 168,000
s 1,300,000
< 260,000
01 X SHHX2E= 1,560,000 1,392,000 168,000
OEd EZHIZHME = 1,560,000, 000 1,560,000
as 1,300,000
< 260,000
ESAMA (M) 1,200,000 2,112,000 A 912,000
s 1,000,000
< 200,000
403 XSS A=0l& 1,200,000 2,112,000 A 912,000
s 1,000,000
< 200,000
01 HXSHMA2E X 1,200,000 2,112,000 A 912,000
OME 2E AR 1,200,000, 000 1,200,000
s 1,000,000
= 200,000
SEFAE LIS (EY) 960,000 600,000 360,000
s 800,000
< 160,000
403 UtXISHE X201 E 960,000 600,000 360,000
ras 800,000
< 160,000
01 HAXSHMA=2EE 960,000 600,000 360,000
Osd sx=dELENIS 960,000, 000 960,000
s 800,000




2N
X ZH -
L= B

el
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

| < 160,000

ArAIE 9 B CHa= il 2 (EH oF) 2,400,000 1,320,000 1,080,000
s 2,000,000
< 400,000

403 Mt SHHSA=0l& 2,400,000 1,320,000 1,080,000
s 2,000,000
< 400,000

01 HIXSHMA2E X 2,400,000 1,320,000 1,080,000
OEHet AHMIE9 BiC=dllZ 2,400,000, 000 2,400,000
s 2,000,000
< 400,000

SEA2 L0 (HOH) 730,800 205,200 525,600
s 609,000
< 121,800

403 X SHHE A0l & 730,800 205,200 525,600
s 609,000
= 121,800

01 XM A=2E X 730,800 205,200 525,600
OHot 88z 20t 730,800,000 730,800
s 609,000
< 121,800

YIS ARl (ZH) 1,338,000 676,800 661,200
s 1,115,000
< 223,000

403 A X EHHS =0l A 1,338,000 676,800 661,200
s 1,115,000
< 223,000

01 X EHHMA=ZLE L 1,338,000 676,800 661,200
OZZ& Helss AAseal 1,338,000, 000 1,338,000
as 1,115,000
= 223,000

ZAACL &IOS (0 &) 1,752,000 600,000 1,152,000
s 1,460,000
< 292,000

403 XA SA=0l& 1,752,000 600,000 1,152,000
s 1,460,000
< 292,000

01 HXSHMA=E X 1,752,000 600,000 1,152,000
OUl&t =AM &20tS 1,752,000, 000 1,752,000
s 1,460,000
= 292,000

EHASMMOS(BF) 2,587,200 249,600 2,337,600
s 2,156,000
< 431,200

403 MtXISHHE X201 E 2,587,200 249,600 2,337,600
s 2,156,000




M 23R4
Bu: 2 e
Chel: SERUESE 292 IHL ALY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 431,200
01 XM A2E X 2,587,200 249,600 2,337,600
S SFZ2I44012 2,587,200,000 2,587,200
s 2,156,000
< 431,200
HHlES 22 (HFY) 1,200,000 0 1,200,000
s 1,000,000
= 200,000
403 XIS E X201 E 1,200,000 0 1,200,000
s 1,000,000
< 200,000
01 X SHHA2E= 1,200,000 0 1,200,000
OF HdHI=E2 25t 1,200,000, 000 1,200,000
s 1,000,000
= 200,000
LA EFOF(A Q) 816,000 0 816,000
s 680,000
< 136,000
403 UHXSHHSA=0l& 816,000 0 816,000
s 680,000
< 136,000
01 HXSHMA=E X 816,000 0 816,000
O&FQ LHAHAM EFO0F 816,000,000 816,000
- 680,000
< 136,000
QlitE 28t M E(0tAH) 504,000 0 504,000
as 420,000
< 84,000
403 MtXISHH S0l & 504,000 0 504,000
as 420,000
< 84,000
01 XM A=2EE 504,000 0 504,000
OO0tat 21 40tS 2SN E 504,000, 000 504,000
s 420,000
< 84,000
BoEZZ 29 T (0taH) 174,000 0 174,000
s 145,000
< 29,000
403 A X EHHS =0l A 174,000 0 174,000
s 145,000
= 29,000
01 X EHHA=LE L 174,000 0 174,000
OO0tgh 8o Zz2 2 5329 & 174,000, 000 174,000
s 145,000
< 29,000
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